ts and i
S and equal, Byt @ 3)1 ©,0) f(x. y)

It point of K, Let F: E - IRm and gi
llm 8(x) = m then show that ‘

Fe

sing it prove that I ‘

i find directional derivative of f(x, y) =3x + 4y* at

(0, 0) exist but f'is not differentiable at (0, 0)

- function of n variable.

,_ 12
line of the surface yz = log (x + 2) at (0, E), 1)

R be a dlfferentlable at PeE, then for any unit

;) =< VF(P), U>

ble at P<IRY, then f+gisalso dlfferentlable at P.

be a dxfferentlable at. PeE then f is contmous at
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S.Y.B.S¢

Q3 A
1)
2)

Attempt any three
Define Jacobian matrix of vectoy valued f
flx, y) = (x cosy, y sinx) at / T )

2) Prove that derivative of vector valued

B)
1)

3) Using Taylor's theorem, Expang the funch‘- ' flz,
term. £

4) Define Linear approximatiop Find linegr ap :
to approximate f(6.9 | 2.05)

Q.4 Attempt any three

1) Using 2™ derivative test Examine the functio
values. ;
2) Define Hessian matrix. Find Hessian matri ' ‘
Flx,y, 2) = x* + 2xyz +y% at (1, 2 1) S &

%a

3) Letf: IR>-> [R? be a function given byfé y) ={
that if f is continuous at (0, 0)'by proving that CO:

fl,y) = 422 + 3xy + 5?2 +8x+yat(0 0)
5) State and prove chain rule for derivative of sc le

R 7Y  where (x,y) #(0, 0) and x =~f.eﬁ ]

gz % FA
}“Oand 5[;—0032(9
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